


Three sums x,y,z are in such a manner
that y is SI of x and z is SI of y. If time
and annual rate are same in both
condition then what is relation between

X, y and z.

a1 IRAT x,y,z 39 UBR Bl f& y, x &1
ATERYT ATl a7 2,y &1 AERY &1
gfg g+l Rerfa o awg @@ &) w99 21
x,yﬁﬂTzW'ﬂﬁ‘ﬂ_%?- o




On what date Rs 1950 lent on 5th

%‘ January 1991 will amount to Rs

2125.50 at 5% per annum simple

mterest
5 W-ay] 1991 &1 5% YTl TR Tl

1 & W R R T 1950 % g fere &l
5/—’36 2125.50 8 WA |

Y. —oqggd ( 3oct 1992  (b) 22 oct 1992

32.§l 1991 \qqa Lenp
3 ® &




Anand opened a book account. He is
paid 3% interest on the average balance

but is charged a Rs 5 monthly charge.
Assuming that interests. Is paid

monthly (regardless of the no. of days in
the month) calculate the average
balance Anand must maintain to offset
the Rs S monthly charge.

A 4F ¥ WAl Yoddl & 4o 39 Iiad
T TR 3% @1 X ¥ TS Qdl & Ui 4@
® 5 @I AR® HIChk &al @ 98 A9d g4
fo 9 =aror #1f® ®u 4 <ar 2 (are "9 A
fpast «ff fes =) o 3t Il sa &, o
e &l 9% H @Al gsl, forad ®© 5 &l
Heldl oI gfa &1 1 9@ |

(a) 1,000 (b) 1,560

(c) 2,000 (d) None of these



Gaurav gets a Rs 5000 loan for 90 days
at 11% interest rate. Supposing he have
some extra cash and pay Rs 2000 on
day 21 (21 days after getting the loan)
on day 65 (65 days after getting loan) he
pay off the loan. Amount of his final
payment is.

TMRd U 5000 6T oI 11% &I X TR 90
et @ fog otwr o 21 T8 7 gR
MRT & 99 69 JfalRed g9 8 AR 98 21
d fes1 (a1 o & 21 fe71 91€) 2000 3r<ET
HYdl & 3N 65 4 fa=1 (a9 o+ & 915 65
fesT 91g) 98 YT @l91 &I qar = dl 7ikd
&RT B T3 HIrarq &1 ifaw 1l dra s117?

(a) 3088.84 (b) 3078.48 @
(c) 3171.84 ACT3071.42




A money lender clam is to lend money
at the rate of 10% per annum simple
interest. However he takes the interest
in advance when he lends a sum for one
year. At what rate of interest does he
lends the money.

Uh GigdR 10% 9faay WremRer a9 &1 <)

4 99 SYR <dl & gldife If¢ 98 b 98 @
fov g9 SR <ar & df <O Uy w9 |

"—-/ém%wﬁa‘sﬁmﬁma‘\rwm
J" o 2ar 2

(a) 10% W11 1/9%

(c) 11% (d) 11 1/11%




Find the total interest paid by Gaurav
for a loan of Rs 10, 000 at 7% for 180
days. Rs 4800 partially paid on days 52
and balance paid on day 115?

oo fedar «ra qm? afe 180 fea @
10,000 & %9 WX 7% &I ¥ 4 Ife 98
529 & fe 4,800 ®UA 3IJST HX adl & X
qTd! 1T AR I 115c’rﬁ-=ramaﬂm§|
(a) 1625 (b) 158.73
(c) 163 15 d) 159.99

16y —




If a sum of money is a certain rate of
simple interest per year doubles in S
year and at a different rate of interest

er year becomes three times of 1tse1f
te of interest is. “"

Arfe His R AR AT Hr fodl
frefaa aiffe v 4 5 af # <R &1 =l
STl 2 3R AR &Fre &) fedl 3= ¥ 9
12 9§ #§ 9 A1 & Wl g d 9ERe
TSl &I &3 A FT N o |

(a) 2% ‘b) 3%

3 Ge-ﬂ;""’ﬂ? @ (d) 4%%




In how much time would the simple
interest on a principal amount be 0.125
times the principal amount at 10% per
annum.

fodl Hoeom W 10% ufdasd @1 ¥ 4

AR 1o fdad a9g § Hau< &1 Q.125
AT B SR Nt

1 3
1—vear b) 1 —vear
S =¥ (b) 17y
1
(c) Zzyear (d) 2%year

®



A sum of money becomes 79/16 times
of itself in 35 years at r% of SI. What is
the value of r?

®is SRR GTERY &9 &I g8 IR 35 99

ﬁﬁumm/lsgmiﬁw%mraﬂ
A a2 -

(a) 10.5% J/1 25%

(c) 10.8% (d) 12.5%







Gaurav borrowed a sum at rate of 6%

per annum for first 3 years, 8% for next
S years and at rate of 10% per annum

after 8 years. If he pays 7840 at the end
of 12 years. Find the sum borrowed.

TRT 4 U8dd 3 99 @ foIv 6% uftad &1 &%
4 Y 8% @1 ¥ ¥ ATl 599 & fov 3R
10% yfcad &1 ¥ 4 8 a9 @ I @& forv
®9 W SuR off afg 98 12 a5 & I 4
7840 § AT Qdl & d 994 fhdd SuR

ford |
(a) 12,000 (b) 9,000
(c) 6,000 ®ys,ooo




(a) 1800 @ (b) 4500

J# 2700

(d) 2718

Gaurav and Azad invested some money
at 6% & 7% per annum respectively at
simple interest. At the end of 2 years
they found that together they got 354
as an interest. One fourth of Gaurav
investment is equal to one fifth of
money invested by Azad. Find the total
money invested.

MG IR TS 4 GERY &G UR HHI:
6% 3R 7% ¥fa a8 W B gl e
B 2 98 & 3Ad q Il AT {6 I A
firemar 354 &1 a9 fyar| Mikd & QW
&1 Ud TS AToe g1 49 fde 10 g9
& 79d 2 @ e} 2| e 9 18 g
g B |

(a) 1800 (b) 4500



A sum of Rs 7930 is divided into 3 parts

o= and given on loan at 5% simple interest
lloA=lIg B=|20C °

o A, B and C for 2, 3 and 4 years
respectively. If the amounts of all three
are equal after their respective periods
of loan, then loan received by A was.

7930 &1 AR 9 wrn # fawfora &) o
2 3NABUG CHl HA: 2,309 4a9 &
fI0 5% & WERO Go U %97 & w9 #
41 ot 8, afe = @& R S5 Fwor o)
qaf~ed arafsr @ q91g aREX & df A+d  foha+




— 3320
630

:F'i'/ * (a) 7 2 %

J

(C) 7—%

“ﬁ(?i%
9

(d) 8%

A man deposits Rs 12,000 at rate of

simple interest 10% per annum in fixed

deposit of a bank. But due to some
reason. He has to withdraw whole
amount after 3 years for which bank
decreases rate of interest. If he gets Rs
3320 less than the amount which he
would have earned at the end of 5 years.
Then what is the rate of interest
provided by the bank.

Ueh el fedl §6 d 10% gfaas wremor
TSl B ¥ 9 12000 3I4fey foder d o
&l & U ol dor |4 9/ wgef af¥
3 98 @ 91 U9 o+l ysdl @ e fov
4% 4 S U @ g¥ HH H} <, afe A
99 w94 3320 %4 fidt ol 94 5 a9l @
dd # i gld o 99 g & =Y surer @

¥ 87




1
A owes B Rs 2600 payable 2Eyears

hence. Also B owes Rs 3180 payable 6
month hence. If they want to settle the
account forthwith, keeping 12% as the
rate of simple interest, then who should
pay whom and how much?

A U% B &T 2600 %93 ol o

&N Sldl @ B IR A T 3180 ™
Wl 6 &€ # g&rr o ddhdar 2| afe al
g9l qd dol gl dred =© dl 12%

@ X 9 &I feasl fead
e ()

(a) B to A, 1500  (b) A to B, 2000
\s¥B to A, 1000  (d) A to B, 3000




Gaurav took a loan or 1,20,000 from a
bank to buy a car. He had to pay
principal amount in 3 equal installment
whereas 11% SI is payable on remainin
amount wi ch installment. Then
find the second installment.

MG 4 R @ed 8 99 4 1 o 9
guR &1 RO ferar | g ¥ 99 &9 o=
aiffe fewal 4 dlier 2 wefe yde faw
& U Uy AR W 11% e deEmRe
TSl @1 X ]I = | d A fewd @1 afd

2 |
(a) 48,000 148,800 @)

(c) 40,000 (d) 40,800




A mobile can be purchased on cash

payment of Rs 1500. But the same
mobile can also bh@sed on the
cash down payment of Rs 350 and rest
paid in 3 equal installment of Rs 400 for

next 3 ‘monlbg . Find t of simple
interest.
Ud Aldlsd © 1500 & SIT gdhdl

& YAl 98! AIEIsd ® 350 &I AMYA A
® 91y yfaad 400 @1 9 swex fowl #

mmméww

gifi? 3&&"&'0" | S0
@ 242% 13® ) segf/: N '¥Q‘
3 3” 4 (3™

WG%%@ (d) 34%% gl R:?




A mobile can be purchased on cash

@ |$00 @ payment of Rs 1500. But the same

mobile can also be purchased on the
cash down payment of Rs 350 and rest
paid in 3 equal installment of Rs 400 for
next 3 'mMoniha . Find the rate of simple

“$O eg‘"‘ mte;;:]t?;ﬁ ® 1500 § ¢ @RIl ol bhdl
450 fénrl"‘u."gfwwa‘a"rnﬁmﬁsso &) AT A
3% P‘m?bﬂ arel gfaasd 400 @1 9 sxEw fewt #

SIT Ghdl & AN &76] d] ¥ T

QQQQ 2‘1& |& 242 2,
X_&‘ (b) 365/::
E&‘q‘ﬁg \OP \ Une (d) 34%%




Marked price of T.V is 10,000. It is
available on a cash down payment of Rs
2,000 and 9 monthly installment of
1,000 each find the rate of installment.

U6 ddl. W 3ifea Yeu ¥ 10,000 § I

2,000 @I T 9 9 HIEg &I ® 1,000 &I
fperal wx gy g 9t 9arftfe <o #) o)

SiTd DYl ?
() 301 9, (b) 3210,
3 3

2

— %



@ Marked price of T.V is 10,000. It is

available on a cash down payment of Rs
3M(H‘3
1300

2,000 and@onthly installment of
E)_o_o each find the rate of installment.
Ue cILdl. W 3ifea feu ¥ 10,000 & I
9m 2,000 @ 7T 9 9 HIE &I ® 1,000 &I

4 ovg BR'I‘ ___'@ﬁmla?m%waﬁa
lg'o (a) 30%%

(c) 302 %
3




Price of tablet is Rs 10,000. It is
available on a cash down payment of Rs
2000 and 2 monthly installment of Rs

4,500 each. Find the rate of yearly
interest.

Ud Cdolc W fbd Jeu 10,000 & g
2,000 T {Idi< 9 2 A48 @I % 4,500 &l

fpgral W g e a9 @1 <
g7 B |

(a) 101 T 104 R" \’\WO
(c) 102 (d) 106 \\ﬁ

= gD |00+lm-‘! __\‘_




Price of tablet is Rs 10,000. It is
available on a cash down payment of Rs
2000 and 2 monthly installment of Rs
4,500 each. Find the rate of yearly
interest.

Ud Cdelc W 3fbd Jeu 10,000 & Ig
2,000 T {IA 9 2 A8 &I % 4,500 @I
fderal W g g al aifffe A B <)
&1 g |

(a) 101 \,«53/104

(c) 102 @) 106



A person lend some amount to his
friend at 20% SI. After 2 years, Rs 5,000

(P_SM) &rl was repaid and the rest amount was
l‘ 5 R—q repaid at 25% per annum if 3rd year’s

6
interest is — of first 2 year’s interest.

Find the amount of money that was lent
Ss. out initially.

U Afed 9 ud i & fefaa gaxaf¥

3 ML 20% GURYT AT B R A 2 A b fov

s 20 SuR faar Rred @ 5,000 w9d gHY Y

P-m:- (AY, eﬁ?ﬁﬁ@‘mﬁ%%uﬁmﬂ‘ﬁwﬁ

gfe TR T &1 99 Ugd gl

Iu13b|~16—1 g, ol SR SITd B |

(c) 39,548.6 (d) 39,482.7



c) 14950

(d) 14750

A man borrows Rs 50,000 from a bank
as loan and decided to pay it in three
annual installment. The rate of
compound interest is 10% p.a.
compounded annually. The amount of
first and second installment are 20,000
and 25,000. What should be amount
paid by him after 3rd year so that , the
loan is completely paid.

Ud Afbd 50,000 ®UY IUR ddx 349 |
aifff®s feeal § qUra@ &1 &1 ey sxdar
g | ghdfg &9 & X 10% dq1fia 2 9
ik fedha fHera ) ¥ 20,000 ©UA 3R
25,000 &9 2| R 99 & q91€ 99 fbaHl
IRT 11 BT difs 98 o9 &1 gui qIrd=
B D |




Gaurav borrowed Rs 84,000 from dimpal
at 20% p.a. compound interest
compounded annually. At the end of the
first year, he cleared a certain part of
what he borrowed. At the end of the

second year he repaid_thrice the amount
which he paid at the end of first year,
amount paid at the end of first year.
— sm TIRG 9 84,000 w9 & d 20% dAhgfe
7 &maﬁm@wm.uﬁaﬁa%amﬁ
X"—"-Qo\bgo U1 SR ol S AR} HT w8 HWET gdI
-— fear 3k guR 99 & 3d ¥ IGd Ugod 99 @
=380 sid ¥ gbre TS AR BT A AT ART GHTAT
(a) 32800 (b) 14400 e g wuR gwar ex fRa, @ gaEn
J4 28800 @ (d) 18,800 et qf et fraht <R qaTE |

(a) 32800 (b) 14400
(c) 28800 (d) 18,800




Gaurav borrowed a sum of Rs 42000 at

Q), is 10 % p.a. compound interest, initially
\.'- """ planned to repay it in two equal

‘ installments. He actually repaid it in

A |° | three equal installment. What is the

alb ' difference between each installment
Q ° ,‘l Wnitially planned and each installment

I ally paid.
ﬂ | W IR MQ000 ®Ud 10% dshdfe ATS &l X
UX o= ™~ ] <l WA feeal 4 SUR gaE Bl greln

“'Xh () 33 ?Iqﬁﬂﬁ'&“@fﬁ?,wmﬁ'

| S & o o= feea RE

B @ ® w
a) 6226 L7311

(c) 9331 (d) 4993




that he would pay Rs 13,050 after 1
year and Rs 22,680 after two year at

'—22'6& 12 % compound interest p.a. what is
‘K-Rpw Z'Kﬁsa‘o QSQO*? value of car on cash payment.

afed 94 12,000 & AYH A w
—?0“0 wwaﬂﬂ’ra’hﬁlz % arffe amafe
13080
GHQMM

A man bought a car and paid Rs 12,000
@' |9\MD)(S_BOSJ 1 as down payment. He told the seller

maﬁaﬁwaﬂ‘mwosoa‘haﬁ
aﬂ‘m22630$gnﬁmaﬂa’maﬂm%
HR BT TS ST B2

(a) 51,000 (b) 42,575
J97%1,520 (d) 45,345




A man bought a car and paid Rs 12,000
as down payment. He told the seller

that he would pay Rs 13,050 after 1
year and Rs 22,680 after two year at

1
125% compound interest p.a. what is

the value of car on cash payment.

Ud Ifeéd 4 12,000 &l aaﬁrqﬁnﬂﬁtr\f

wwaﬂa"raﬁaﬂlz % arff® asqfg

WﬁWﬁWﬁWIS,OSOSﬁQﬁ
as 91 22,680 & WA &I dral e
HR BT TS ST DR 2 A -

(a) 51,000 (b) 42,575 \\ 6 0

(c) 41,52Q/ (d) 45,345 \""/




